E3110b-0408



E 3110-0408

Position
Ref.No.
Repére
Posizione
Posicion

Menge
Quantity
Quantité
Quantita
Cantidad

Teile-Nr.
Part-No.
No. Référence
Nr. d'Ordine
No. Referenzia

Hinweis
Hints
Indications
Indicazione
Indicaciones

Position

Ref. No.

Repére
Posizione
Posicion

Menge
Quantity
Quantité
Quantita
Cantidad

Teile-Nr.
Part-No.
No. Référence
Nr. d'Ordine
No. Referenzia

Hinweis
Hints
Indications
Indicazione
Indicaciones

0 N OO g WN -

11
12
13
14
15
16
17
18
19
20
21
22
23
24
25
26
27
28
29
30
31
32
33
34
35
36
37
38
39
40

1 L N N g U UG U U U U | S T U U LU U L0 I U U U U U U U O GO O T O T O T O S N U U U O L SO LG I

20031502
20026531
20029024
25038008
10009882
25038013
25048003
20022003
20025566
20007076
25038003
25048001
25031012
20007077
25038069
20022001
20007044
25038008
20029003
25031003
11000341
20007077
20022017
11000312
25044002
20029015
11000313
20022022
21000022
21000140
11000360
20022022
25048017
20012156
20012184
21000159
21000353
20016289
20025402
40080606

DIN933-M8x25

DIN933-M10x20

DIN125-A10,5
Tensilock M10

DIN933-M6x20
DIN125-A6,4
DIN985-M6

DIN933-M6x25
Tensilock M6

DIN933-M8x25

VSK 8

DIN934-M8

Tensilock M6x16

DIN912-M6x16
VSKZ 6

Tensilock M5x12

Tensilock M5x12
DIN125-A5,3

0,43 m

41
42
43
44
45
46
47
48
49
50
51
52
53
54
55
56
57
58
59
60
61
62
63
64
65
66
67
68
69
70
71
72
73

[ G | N TR N N W N L0 T L N U U U O o0 I U O LS T © ) N © > D N W Uy > N & » [ G |, I G U ) O B O I U U -

40080605
20031553
20031034
20007077
20022022
21000625
20022022
21000207
21000206
20022022
20031551
20031552
20031550
30047474
25033029
20025121
20012186
20012185
20019401
20012187
20012104
20031545
20031039
11000358
10022618
25038072
20029007
11000357
21000187
25038002
25038003
20029020
20007044

Tensilock M5x12

Tensilock M5x12

Tensilock M5x12
30A
50 A
20 A

ISO7380-M6x16-10.9

DIN933-M6x12
VSK 6

DIN933-M6x16
DIN933-M6x20
SKB 6

04.08




